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WELCOME TO HIGH SCHOOL PHYSICS,

Unit 3: Circular
Motion, Work
and Energy

Energy - the capacity to do work, can be converted from one form to
another, change in energy is called work
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Ex.) A 70 kg person climbed a 12 m ladder. Calculate the potential energy with
respect to:

a) The ground.
b) The roof (11 m above the ground).
c) Atree, 7.0 m below the top of the ladder.
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WELCOME TO HIGH SCHOOL PHYSICS,

Ex.) A pendulum bob of mass of 2.00 kg is fixed from the ceiling by a string of
length 1.00 m. If the bob is pulled 0.750 m to one side, what is its potential
energy with respect to its equilibrium position?
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WELCOME TO HIGH SCHOOL PHYSICS,

Ex.) A 10.0 N ball is accelerated uniformly from rest at a rate of 2,50 m/s2. What
is the kinetic energy of this object after it has accelerated a distance of 15.0 m?
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energy of the rock as it hits the ground?
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WHERE EHEHYTI'ﬁiIES INAVAGUUM,
AND AIR RESISTRNCE DOESN'T MATTER
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WELCOME TO HIGH SCHOOL PHYSICS,

Ex.) By what factor must the kinetic energy increase to cause the speed to
triple?

EK is 4 3(«37/

?3.%5 *2,36,3A.




